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IV Semester BBA3 Degree Examination, May - 2019
COMPUTER APPLICATION IN BUSINESS
(Regular & Repeaters)

Time : 3 Hours Max. Marks : 80

Instructions : (1) Answer the following questions of all four Sections.
(2) Section - D is Compulsory.

SECTION - A
L Answer any ten from the following questions. 10x2=20
1.  What is Database ?

2.  What is Computer Network ?

3.  Define Telephone Banking.

4. Write any two websites of B2C E-Commerce.
5.  What is Firewall ?

6.  Write Syntax of CREATE Table Command.
7.  What is website ?

8.  What is Social Media Marketing ?

9. Define Payment Gateway.

10. What is E-Cash ?

11. Define Internet.

12. What do you mean by Tracking Orders in E-Commerce ?

P.T.O.
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SECTION - B

II. Answer any four from the following questions.

13.

14.

15.

16.

17.

18.

Explain in brief characteristics of DBMS.

Explain Network Models.

What are the benefits of Internet Marketing ?

Explain types of E-Commerce.

Write differences between Debit card and Credit card.

Explain structure of HTML.

SECTION - C

III. Answer any three from the following questions.

19.

20.

21,

22.

23.

What is Network Topology ? Explain Types of Network Topology.

Write HTML Script to design an E-mail Registration form.
Explain in detail types of DBMS languages.

What is EDI ? Write Advantages and Disadvantages of EDL
Write short notes on : (any two)

(@) RTGS

(b) Types of DBMS Users
(¢) Antivirus

VRO TR AR

4x5=20
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SECTION - D

IV. Compulsory. 1x10=10
24. Create Table Books in Oracle/ MySQL with following fields.

Book_ID, Book Name, Book_Author, Book_Publisher & Book_Price and Insert
Five Records.

Answer the following queries.

(@)
(b)

Display All Records.

Display Book_ID, Book_Name & Book_Price whose Book Price is greater
than 250.

Update publisher Name from TATA to OMEGA.
Display all the records whose Author Name starts with ‘Al
Delete Book details whose Book ID is 1010.

-000-
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IV Semester B.B.A.3 Examination, May - 2019
MARKETING MANAGEMENT
Regular - 2018-19

Time : 3 Hours

Instructions : (1) Answer following to the point.

10.
11,

Ly b2

(2) Part- 1V is compulsory.

PART - I
Answer any 10 questions. Fach question carries Two marks.

What is markeling management ?

Define habitual buying behaviour.

Mention any two Economic factors affecting consumer buying behaviour.

Give the meaning of speech recognition.

Who are defector’s ?

Define Psychoanalytical Model of Consumer Behaviour.
Define marketing mix.

What is customer relationship management ?

What do you mean by rural marketing ?

What do you mean by International Market ?

Whal is Straight Re-buy?

What is grey market concept ?

Max. Marks : 80

10x2=20
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13.

14.

15:

16.

17.

18.

19,

20.

21

22.

23.

24,

PART - 11

Answer any four questions. 4x5=20

Discuss the buyer adoption process.

Explain the types of customer relationship management.

Explain the communication process in IMC model.

Explain the challenges in rural marketing,

Write a short note on customer complaint management.

Explain the principles for managing customer relationship.
PART - III
Answer any three question. 3x10=30

Explain the factors affecting consumer buying behaviour.

What is adoption ? Explain the adoption process.

Explain the customer contact center technologies in detail.

What is IMC ? Explain the steps involved in developing IMC programme.

Distinguish between CRM and Relationship Marketing.

PART - IV
[Compulsory]

Discuss marketing environment of rural marketing. 1x10=10

-00o0-
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IV Semester B.B.A.3 (Regular) Degree Examination, May - 2019

CORPORATE ACCOUNTING - II
(Regular/Repeater)
Time : 3 Hours Max. Marks : 80

Instructions : (1) Calculators are allowed.
(2) Part - D is compulsory.
(3)  Show the working notes.
(4)  Solutions should be in vertical format.

SECTION - A
Answer any ten. Each carries two marks. 10x2=20

1.  What is Holding Company ?

2. What is Amalgamation ?

3.  What is Statutory Reserve ?

4.  Give the journal entry for transfer of liabilities to Realisation A/c.
5. Give the details of Schedule No. 8 in banking accounts.

6. Who are unsecured creditors ?

7.  What is partially owned subsidiary company ?

8.  Give two conditions of Amalgamation in the nature of merger.
9.  Mention the two circumstances of compulsory liquidation,

10. What is subsidiary company ?

11. Mention few incomes of bank.

12.  What is Minority Interest ?

P.T.O.
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SECTION - B
Answer any four. Each carries five marks. 4x5=20
13. Vishesh Ltd. purchased 600 shares of ¥ 100 each in Anusha Ltd. on 1-10-2018. The
total share capital of Anusha Ltd. is ¥ 80,000 divided into shares of ¥ 100 each.
The opening and closing balances of General Reserve and P&L A/c are given below.

Particulars on1/4/2018 on 31/3/2019
General Reserve 40,000 40,000
P&LA/c 8,000 32,000

Calculate Minority Interest.

14. VJK Ltd. purchased the business of Raj Ltd. Notes to the Balance-sheet of Raj Ltd. are
given below :

Note - 1 |Share Capital [10,000 shares of ¥ 10 each]|1,00,000
Note - 2 [Trade - Payables :

B/P 10,000
Creditors 30,000
40,000
Note - 3 | Tangible fixed Assets :
Building 50,000
Machinery 30,000
80,000
Note - 4 |Inventory :
Stock 30,000
Note - 5 |Trade Receivables :
Debtors 15,000
B/R 20,000
Note - 6 |Cash and cash equivalents : Bank 20,000
Assets are revalued as follows :
Building : 32,000 Machinery : 45,000
Stock : 25,000 Debtors : 13,000.

Liabilities are taken at book value. Calculate Purchase Consideration.

15. The Rigid Ltd. went into Voluntary liquidation on 31-03-2019. It's capital consists of :
(a) 5,000 8% preference shares of ¥ 10 each fully paid.
(b) 10,000 equity shares of ¥ 10 each fully paid.
The assets realised at ¥ 80,000. The expenses of liquidation amounted to I 2,000.
Unsecured creditors were ¥ 34,000 including ¥ 3,000 preferential creditors.
The liquidators remuneration was fixed at 4% commission on assets realised and 2%
commission on the amount distributed to shareholders.
Prepare liquidators final statement.

VAN R




16.
17.

18.

19.

What are the major functions of Bank ?

What are the conditions for Amalgamation in the nature of Merger ?

Explain how Minority - Interest is calculated in holding company ?

SECTION - C
Answer any three. Each carries ten marks,

37421/D210

3x10=30

S Ltd. & M Ltd decided to amalgamate their businesses & form a new company called

Sumo Ltd. The following are the balance-sheets of the companies.

L

Particulars

Equity & Liabilities
1. Shareholders funds

Share -

Capital

Reserve & Surplus

Debentures

3. Current Liabilities
Trade - payables : Creditors
Total Equity & Liabilities

Assets :

Non-current Liabilities

Tangible fixed Assets : Machinery
Intangible fixed Assets : Goodwill
Current Liabilities
Inventories : Stock

Trade Receivables : Debtors
Cash & Cash equivalents : Cash

Total Assets

Note No.| S Ltd. M Ltd.

1l 3,00,000 4,00,000

2 1,00,000{ (—) 60,000
3 1,00,000 =

4 50,000 70,000

5,50,000 4,10,000

5 3,50,000 3,00,000
50,000 -

6 80,000 60,000

7 40,000 40,000

8 30,000 10,000

5,50,000 4,10,000

The following are the terms of agreement :

(@)

(b)

The Assets and Liabilities of S Ltd. are to be takenover at book values except
goodwill, machinery and stock which are to be valued at < 1,00,000, ¥ 3,20,000
and ¥ 90,000 respectively.
The assets (except cash) of M Ltd. are valued at 10% less than the book values
and the creditors are takenover at book value.

;] Prepare notes to Amalgamated Balance-sheet.

. Calculate purchase consideration

° Give opening entries in the books of Sumo Ltd.

AU
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20. From the following balance-sheets and the particulars given below prepare :
. Notes to the consolidated balance-sheet.

L) Calculate Minority Interest.

Particulars Note No. | Sun Ltd. Moon Ltd.

I. Equity & Liabilities :
1. Shareholders funds

¢ Share - capital 1 6,00,000 1,00,000

* Reserve & surplus 2 2,00,000 90,000

2. Current - Liabilities

Trade - payables 3 1,50,000 85,000
Total Equity & T.iabilities 9,50,000 2,75,000
II. Assets:

1. Non-current Assets :

Tangible fixed Assets 4 5,00,000 1,40,000
Intangible fixed Assets : Good will 50,000 30,000
Non-current Investments 5 1,20,000 -

2. Current - Assets

* [nventories : Stock -6 1,60,000 40,000
¢ Trade receivables : 7 1,15,000 55,000
» Cash & Cash equivalents : Cash 8 5,000 10,000

9,50,000 2,75,000

(TEIen




Notes to Balance-sheet as on 31-3-2019

Note - 1

Note - 2

Note - 3

Note - 4

Note - 5

Note - 6

Share Capital :

Shares of ¥ 10 each fully paid

Reserve & Surplus :
*  General Reserve

e P&LA/c

Trade Payables :
Sundry creditors

Bills payable

Tangible fixed Assets :
Land & Building

Plant & Machinery

Non-current Investments :

8,000 shares in Moon Ltd.

Trade Receivables :
Debtors

B/R

6,00,000 | 1,00,000
60,000 40,000
1,40,000 50,000
2,00,000 90,000
1,25,000 75,000
25,000 10,000
1,50,000 85,000
3,00,000 80,000
2,00,000 60,000
5,00,000{ 1,40,000
1,20,000 -
1,00,000 50,000
15,000 5,000
1,15,000 55,000

37421/D210

Sun Ltd. acquired the shares in Moon Ltd. on 1-10-2018. General Reserve and P & L
A/c of Moon Ltd. on 1-4-2018 showed a balance of ¥ 30,000 and ¥ 10,000 respectively.

ARFECTAR IR
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21. From the following ledger balances of the Vishesh Bank Ltd. prepare schedules to the
Balance-sheet.

Name of account Debit Credit
Share Capital (2,000 shares of ¥ 10 each) - 2,00,000
Statutory Reserve - 1,50,000
Net - Profit for the year
(before appropriations) ; 2,50,000
P& L A/c (on 1-4-18) - 2,00,000
Current A/c = 6,80,000
Savings deposits - 2,20,000
Fixed deposits : 2 3,00,000
Borrowings from other banks - 1,60,000
Bills payable - 40,000
Cash in hand 2,00,000 -
Cash with R.B.L 50,000 -
Cash with other banks 2,40,000 =
Money at call & short notice 1,10,000 -
Investment in Govt. Securities 1,80,000 =
Bills purchased & Discounted 3,00,000 -
Cash credit & overdraft 4,75,000 -
Term loans 5,25,000 -
Premises (after depreciation) 90,000 -
Furniture (after depreciation) 20,000 -
Non-Banking Assets 10,000 =
22,00,000| 22,00,000

22. Briefly explain the types of Amalgamation and Distinguish between Amalgamation
and Absorption.

23. Write short notes on :
(a) Functions of bank
(b) Holding company

(R
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SECTION - D
Case-let
Compulsory 1x10=10

24. The Dream Co. Ltd. went into voluntary liquidation on 31-12-2018 on which date its
capital consists the following :

(a) 10,000 8% preference shares of ¥ 10 each fully paid.
(b) 20,000 equity shares of ¥ 10 each fully paid.

The assets realised for ¥ 1,60,000. The liquidation expenses amounted to ¥ 4,000.
The unsecured creditors were T 68,000 including ¥ 10,000 for preferential creditors.
The liquidator’s remuneration was fixed at :

(a) 4% commission on the assets realised
(b) 2% commission on the amount distributed to the shareholders.
There is no arrears of preference dividend. Prepare the liquidators final statement.

-00o0-
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IV Semester B.B.A.3 Degree Examination, May - 2019

Operation Research
Regular and Repeaters

Time : 3 Hours Max. Marks : 80
Instructions : (1) Simple calculator is allowed.

(2) Section - D is compulsory.

SECTION - A
Answer any ten of the following. Each carries 2 marks. 10x2=20

1.  Define L.P.P.
2.  What do you mean by Operation Research ?
3.  Write any two O.R models.
4.  Write the following L.P.P in standard form.

Minimize z=7x;+5x,

S.t. 2x;+3x, =20

3x;+x, = 10
and x,x, 2 0

5.  Define unbalanced Transportation Problem.

6.  Write methods to solve the Transportation Problem.

7.  Define game theory.

P.T.O.
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8.  Define mixed strategy.

9.  Define two person zero sum game.
10. Define balanced assignment prc;blem.
11. Define slack variable.

12. Define saddle point.

SECTION - B

Answer any four of the following. Each carries 5 marks.

13. Explain the significance of O.R models.

14. Solve the following transportation problem by using matrix minima method.

D, D, D, D; |Available
O, 5 4 3 8 20
O, 3 7 9 6 30
O, 5 11 10 12 40
Required| 30 10 20 40

15. Solve the following assignment schedule.

1 2 3 4
A 17 20 13 21
B~ 15 21 -7y i 18
@ 17 18 17 21
D 14 22 12 22

RO OO
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16.

17

18.

3 37423/D230

A firm engaged in producing two models, model x; and model x,, performs only three

operations

- Painting, Assembly and Testing. The relevant data are as follows.

Unit

Hours required for each unit of

Sales price| Assembly [ Painting| Testing

Model x ,

50 1.0 0.2 0.0

Model x ,

T80 1.5 0.2 0.1

Total number of hours available each week are as under :

Assembly -

600 hrs, Painting - 100 hrs, Testing - 30 hrs

The firm wishes to determine its weekly product mix so as to maximize revenue.
Formulate the L.P.P.

Determine the optimum strategies for the two players X and Y and find the value of the

game from the following pay off matrix by using minimax method.

Player Y
3 =1°" 4 2

PlayerX |-1 -3 -7 0

t =6 29

Solve the following transportation problem by using N-W corner method.

Warehouse Sore w X Y Z |Total Supply
A 50 150 70 60 40
B 80 70 90 10 60
(@ 15 87 79 81 40
Total Demand 20 70 50 10

0k P.T.0.
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SECTION - C
Answer any three of the following. Each carries 10 marks. 3x10=30

19. What is Assignment problem ? Explain the algorithm of assignment problem.

20. Solve the following L.P.P by using graphical method.
Maximize z=>5x+4y
S.t. x—2y =10
x+2y = 30
and x,y =0

21. Solve the following T.P by Vogel's Approximation method and test it for optimality.

D, D, D, D, Supply
O, 10 12 16 12 250
0O, 15 13 14 8 300
O, 20 22 15 10 400
Demand| 200 225 275 250
22. Solve the L.P.P by Simplex method.
Max. z=30x, +40x,
S.t. 2x;+x, <40
x;+5x, < 100
and x, %, =0
23. Solve the following assignment problem.
Machines
I II I v A%
A - 10 25 25 10
Jobs B 1 - 10 15 2
C 8 9 - 20 10
D | 14 10 24 - 15
E | 10 8 25 27 -

G A
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SECTION - D
(Compulsory)
24. Solve the following game graphically. 1x10=10
_Bl Ba
A -2 0
Ay | 3 -1
Ay |-3 2
Ay | 5 -4

-00o0-
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IV Semester B.B.A.3 Degree Examination, May - 2019
FINANCIAL MANAGEMENT
(Regular and Repeaters)

Time : 3 Hours Max. Marks : 80

Instructions : (1)  Simple calculators are allowed.
(2)  Show the working notes.
(3) Part - D is compulsory.

PART - A

Answer any 10 questions. Each carries 2 marks. 10x2=20
1.  What is Financial Planning ?
2.  Mention 2 factors affecting Financial Management.
3.  What is Wealth Maximisation ?
4.  What do you mean by high-geared company ?
5.  What is EBIT . EPS analysis ?
6.  What is cost of capital ?
7.  What is Trading on Equity ?

8.  What is under Capitalisation ?

9.  What is MM approach on Dividend Policy ?

P.T.O.
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10.

11,

12.

13.

14.

15.

16.

X7

18.

A company has issued 20% Debentures of ¥ 2,00,000, tax rate applicable is 40%,
Debentures are issued at a Discount of 10%. Calculate Kd.

Mention types of Dividend Policy.

Define Financial Management.
PART - B
Answer any 4 questions. Each question carries 5 marks. 4x5=20

Write a note on Significance of Financial Management.

Write a note on Profit Maximisation.

Scratchpad Ltd. has capitalisation of ¥ 10,00,000 and it earns annually X 1,00,000. The
normal rate of earnings is 15% in the industry. What is the status of company’s
capitalisation ? What happens if Co. earns annually < 2,00,000 ?

Calculate Combined Leverage from the following information :
Sales : 10,000 units at ¥ 200 p.u.

Variable cost at ¥ 100 p.u.

Fixed cost ¥ 3,00,000

10% Debentures of ¥ 1,50,000

Shri Ltd. issues 10% Debentures of ¥ 15,00,000. The company is in 40% tax bracket.
Calculate cost of Debt. If Debentures are issued at :

(i) 10% Discount (ii) 10% Premium

Sandesh Ltd. has sales of ¥ 1,00,00,000, variable cost of ¥ 40,00,000, Fixed cost of T 40,00,000.
Company has a Debt of ¥ 50,00,000 at 10%. Calculate EBIT. If the Firm wants to
increase its EBIT by 20%, how much percentage rise in sales would be needed ?

AR RV OO
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20.

21.
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PART - C
Answer any 3 questions. Each carries 10 marks. 3x10=30
Neha Ltd. has in its Books the following amounts and specific costs of each type of
capital.
Type of capital Book Value Market Value Specific Cost
Debentures 4,00,000 3,80,000 5%
Preference capital 1,00,000 1,10,000 8%
Equity shares 6,00,000 12,00,000 15%
Retained earnings 2,00,000 - 13%

Determine the weighted average cost of capital using :
(i) Book value weights
(ii) Market value weights

Calculate Operating Leverage, Financial Leverage and Combined Leverage under
Situation 1 and Situation 2.

Installed capacity - 3,000 units
Annual production and sales - 50% of Installed capacity.
Selling price [p.u.] -X 30
Variable price [p.u.] - 15
Fixed cost : Situation 1 : ¥ 6,000
Situation 2 : ¥ 7,500
10% Debentures of ¥ 50,000

Following information is available in respect of a firm :

Earnings per share = ¥ 10

Capitalisation rate = 10%
Assumed Rate of Return on Investment
@ 8% (i) 12%

Show the effect of Dividend Policy on the Market Price of share using Walter’s Model
when Dividend pay-out Ratio is :

(@) 25% (b) 50%

AL C AR P.T.O.
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22. Briefly explain the factors influencing the capit'al structure of a company.
23. Whatis Financial Planning ? Explain the principles of a sound financial plan.

PART - D

(Compulsory) 1x10=10

24. Zoman Ltd. has equity capital of ¥ 10,00,000 divided into shares of ¥ 100 each. For its
expansion the company desires to raise additional capital of ¥ 10,00,000. The company’s
financial advisor gives the following alternatives :

(a) All Equity shares of ¥ 100 each.
(b) X 8,00,000, 10% Debentures and remaining in equity shares.
(c) X 6,00,000, 16% preference shares and remaining in equity shares.

The company’s EBIT is T 4,80,000 and the tax rate is 30%. Determine EPS in each
alternative and comment on the suitable alternative.

-00o0-
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AR Reg. No.

IV Semester BBA2 Degree Examination, May - 2019
EXPORT MANAGEMENT
(RCU Repeaters)

Time : 3 Hours Max. Marks : 80

Instructions : Section “C” is compulsory.

SECTION - A

Answer any ten of the following. Each carries 2 marks. 10x2=20

(a) Define export management.
(b) Define foreign exchange.
(c) Explain the hédging function of foreign exchange market.
(d) Explain packing credit.
(e) What is certificate of origin ?
(f)  Explain bill of exchange.
() Whatis FEMA ?
(h) What do you mean by ex-works ?
(i)  What are the function of commodity board ?
() What are the objectives of EPZs ?
(k)  What is letter of hypothecation ?
(I)  What is confirmed letter of credit ?
SECTION - B
Answer any five of the following. Each carries 8 marks. 5x8=40

What are the objectives and scope of export management ? Explain in detail.

What is meant by disequilibrium in balance of payment ? Explain the cause of

disequilibrium and how to remove them.

What is exchange control ? What are different methods of exchange control ?

PTG,
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5.  What are the functions and services of commercial banks ?

6.  Define Export Credit Guarantee Corporation (ECGC). Explain risks covered by ECGC.
7.  Define Export Import (EXIM) Bank of India. What are its objectives and rules ?

8.  Explain EXIM policy. Discuss the objectives and strategies of the current EXIM policy.

9.  Explain any two of the following :
(i)  Export promotion councils
(ii) Special Economic Zones
(iii) Technology Parks
(iv) Free Zone

SECTION - C
(Compulsory)
10. Answer the following questions : 2x10=20
(i) Discuss the procedure of export.
(ii) What is letter of credit ? Explain the mechanism of letter of credit.

-00o0-
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IV Semester B.B.A.2 Degree Examination, May - 2019
COST ACCOUNTANCY
(Repeater)

Time : 3 Hours Max. Marks : 80

Instructions : (1) Simple Calculator is allowed.
(2)  Section C is compulsory.

SECTION - A
1.  Answer any ten of the following : 10x2=20
(a) Define Cost Accounting.
(b) What is Labour Turnover Ratio ?
() What is Material Turnover Ratio ?
(d) Define EOQ.
(¢) Mention any two advantages of cost accounting,
() What is Machine Hour Rate ?
(g) What is marginal costing ?
(h) Mention any two factory overheads.
(i)  What is variable overheads ?
()  What is incentive ?
(k)  What is stores ledger ?

(I) What do you mean by Direct labour ?

PiFO.
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SECTION - B

Answer any five of the following : 5x8=40
2.  Prepare cost sheet from the following information :

Work in progress on 01.01.2002 . 66,000

Work in progress on 31.12.2002 54,000

Stock of raw materials on 01.01.2002 2,25,000

Stock of raw materials on 31.12.2002 2,04,000

Purchase during the year 4,77,000

Direct labour 1,71,000

Administrative overheads 6% of works cost
Selling overheads 2% of Sales
Production and Sales 300 motors at ¥ 3,000 each.

3.  From the following information prepare a stores ledger under LIFO Method.
01.01.1990 Opening stock of 100 units at ¥ 10
02.01.1990 Received 200 units at ¥ 10 each
03.01.1990 Received 300 units at ¥ 10.60 per unit
04.01.1990 Issued 400 units
06.01.1990 Issued 120 units
07.01.1990 Purchased 400 units at ¥ 11 per unit
10.01.1990 Issued 200 units
12.01.1990 Purchased 300 units at ¥ 11.40 per unit
13.01.1990 Received 200 units at ¥ 11.50 per unit
17.01.1990 Issued 400 units

4.  The following information is available from the books of Philips Company Ltd.
Reorder quantity 360 units
Maximum Consumption 900 units per week
Minimum Consumption 300 units per week
Reorder period 3 to 5 weeks
Emergency delivery period 2 weeks
Calculate Minimum stock level, Maximum stock level, Average stock level and Danger
level.
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From the following information calculate the earnings of the workers under Mericks

System
Normal piece rate < 5 per unit
Standard output 40 units

Worker A has produced 32 units
Worker B has produced 37 units
Worker C has produced 42 units

In a factory there are four production departments A, B, C and D and 2 service
departments X and Y. The cost of these departments are as follows :

Production Departments Service Departments
A -% 1,270 X - 750
B -% 1,460 Y - X 340
C-%990
D -X 830
The expenses of service departments are charged on percentage basis :
Service department A B C D X Y
X 10% 30% 20% 20% - 20%
¥ 30% 20% 30% 10% 10% -

Distribute the service department cost to production department under Simultaneous
Equation Method.

Compute Machine Hour Rate from the given data :
Cost of Machine - ¥ 18,400
Scrap value - ¥ 400

Rent of the department (% space occupied by this machine) - ¥ 1,560.

Lighting (2 out of 12 light points are used for this machine) - ¥ 576
Insurance - ¥ 72 p.a.

Salary to supervisors (% time is devoted to this machine) - ¥ 12,000 p.a.

Wastage is T 120 p.a.

Repairs ¥ 2,250 p.a.

Power consumption - 5 units per hour at ¥ 1.20 per unit
Life of machine - 10 years

Machine works for 1,800 hours p.a.

Distinguish between cost accountmg and financial accounting,

(IR ARRATE P.T.O.
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SECTION - C
(Compulsory)
Answer the following question : 1x20=20
9.  From the following data calculate marginal cost and total contribution :
Particulars Product - A Product - B
Direct Materials 10 9
Direct labour 3 2

Fixed cost X 800

Variable cost 100% of direct wages

Selling price - product - A X 20 and product - B ¥ 15
Sales mixture :

(a) 100 units of product A and 200 units of product B.
(b) 150 units of product A and 150 units of product B.
() 200 units of product A and 100 units of product B.

Recommend which of the sales mixture should be adopted. Also calculate p/v ratio of
A and B.

-000-

AUV




